
Your unit can be installed to meet ADA regulations when and where applicable. Refer to Federal Register, Volume 
56, No 144 28 CFR Part 36.

You are responsible for the safe operation of this unit.

INSTALLATION AND OPERATION INSTRUCTIONS

GAMCO WALL-MOUNTED BCS-1 AND BCS-2 Please Note: 

To assure proper installation, it is suggested that a qualified person or carpenter install the Gamco Baby 
Changing Station. Gamco Commercial Restroom Accessories will not be responsible if the station is not 
installed properly

Gamco Baby Changing Stations have been tested to hold a substantial static load. The unit must be 
attached to a permanent wall that is capable of holding a substantial load. The maximum recommended 
total weight for this baby changing station (including baby and parcel bag) is 60 lbs. Excessive weight may 
cause a hazardous or unstable condition to exist. 

Using Restraint System
To fasten the waist restraint strap, place strap around child’s midsection, and push spring tabs into buckle 
until both spring tabs lock in place with an audible “click”. Straps can be adjusted to make strap tighter or 
looser as required.

Inspection Criteria:

A properly maintained baby changing station:

 – Opens and closes smoothly

 – Has both ends of a functioning, non-frayed strap: buckle clicks when closed and strap is attached to unit at both 
ends.

 – Provides a clean, convenient place for customers to attend to their children.

OPERATING INSTRUCTIONS

ASTM F 2285-04

 WARNING: Never leave child unattended.

 WARNING: Avoid serious injury from 
falling or sliding out. Always use restraint system.
 

 WARNING: Designed for Infants Only. 
Age up to 3.5 years and weighing less than 50 
lbs. Keep one hand on the child at all times. 

Parcels or accessory items, or both, placed on 
the unit may cause the unit to become unstable.

EN 12221:2008

WARNING: Do not leave the child unattended.

All assembly fittings shall always be correctly tightened and 
checked regularly.
Be aware of the risk of open fire and other sources of strong heat, 
such as electric bar fires, gas fires, etc. in the near vicinity of the 
changing unit.
The changing unit is intended up to a maximum weight of 15 kg.
Do not use changing unit if any parts are broken or missing. A 
changing pad is not required for this product.
Additional or replacement parts shall only be obtained from the 
manfacturer or distributor.
Unit should be cleaned once or more daily with a clean nylon brush 
and spray disinfectant.

MATERIALS SUPPLIED: TOOLS WHICH MAY BE NEEDED FOR INSTALLATION:
Measuring Tape
Gloves
Level
Stud finder
Pencil

Drill
Phillips screwdriver
7/32" Drill Bit. (masonry)
1/8" Drill Bit. (regular)
1/2" Drill Bit. (reg & masonry)

(4) 1/4" x 3" Panhead wood screws
(4) 1/4" Flat washers



HORIZONTAL BABY CHANGING STATION 
GAMCO WALL-MOUNTED BCS-1 AND BCS-2

INSTALLATION INSTRUCTIONS

Step 1.
 Remove changing station from the shipping container and check for any freight damage. Identify the 

best location for installing the unit. Hold the unit in place and open the bed. Make sure you have taken 
the operating clearance into consideration.

Step 2.
 Based upon the type of wall on which you will be mounting the station, determine the best method of 

mounting. You may have left over hardware when you are fi nished with installation.

Step 3.
 The horizontal unit has four mounting holes provided in the back wall of the unit. The four holes are 

positioned on a 32" (813mm) stud center. 

 If possible, locate the wood or metal studs for fastening the changing station in the desired location. 
If the walls do not have studs on center as outlined, make sure at least one side of the unit is installed 
into the stud. Use toggles (may have to purchase) for holes on the other side.

Step 4.
 Find the stud where you will be attaching the left side of the changing station to the wall. Measure up 

from the fl oor 44" (1118mm), at the center of the stud and mark the wall. Mark holes using a level and 
measuring tape to make sure holes are precisely positioned. Hold unit in place to check. Use a 1/8" 
drill bit to make pilot holes and the four ¼" x 3" panhead screws with washers (supplied) to attach the 
unit to the wall studs. This will place the bottom of the station 26-1/2" (673mm) from the fl oor and the 
top of the bed at 33" (838mm) from the fl oor.

 If the wall surface is masonry or tile over wood studs, use a 7/32" masonry drill bit for the pilot hole 
until you hit the stud. Change bit to 1/8" regular drill bit. Use the four 1/4" x 3" panhead wood screws 
with washers (supplied).

 If the wall has wood studs that are not on 
32" (813mm) centers, has metal studs or an 
underlying surface of concrete block, drill with 
a 1/2" (12mm) masonry bit. (You may have 
to purchase toggles before installing.) You 
must allow a minimum of inside wall space for 
toggles to turn depending on toggles used. 
Insert and tighten toggles.

Bobrick Customer Service New York Division
Phone: (518) 877-7444 • Fax: 518-877-5029
Bobrick Customer Service Los Angeles Division
Phone: (818) 982-9600 • Fax: 818-503-9287
or email BobrickCustomerService@bobrick.com

Gamco Commercial Restroom Accessories: A Division of Bobrick, One Gamco Place, Durant, OK 74701-1910
 For Customer Service Bobrick New York Division Phone: (518) 877-7444 • Fax: 518-877-5029

For Customer Service Bobrick Los Angeles Division Phone: (818) 982-9600 • Fax: 818-503-9287

© 2012 by Gamco Commercial Restroom Accessories               P/N 1027               Issued 8/2012               Printed in U.S.A.


